Correction of the Second English Term TCL
Part One: A/- Reading Interpretation

1) - The text is: b- a website article.
2) - The general idea of the text is: b- The Amazon forests and the future of the world.

3) - Answering questions:

a- Air we breathe will lose its oxygen because if we lose tropical forests, the air will
contain much less oxygen and much more CO2 and the Amazon forests provide 50% of
the world’s annual production of oxygen.

b- If we lose tropical forests, it will be impossible to breathe.

c- If there is more carbon dioxide in the air, the temperature will rise; the ice cups will
melt, the sea level will rise and hundreds of seaside towns will be flooded.

4) - True or false:

a-true b-false c-true d-true

5) - Referring words:

Its= air they= Amazon forests

Which= calculations they= Amazon forests

B/- Text Exploration:

1- Climatologists= scientists who study the climate and its changes.

Flood= inundation caused by overflowing.

Destroy= to pull down or demolish.

2)- opposites:

Freezez melt samez different

3) - production  destruction effect

4) - a- disappear- will be

b- cut- will become

5) - Carbon dioxide in the air is rising as a result the temperature is rising.

6) - Silent letters:

Air- right- what- losing
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